2018 Meadows Greyhounds	Division 1 Seniors	S						
Home Away	у Т	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal Interchange Stew	Ground
Bundoora v North	h Heidelberg 2	2:10 PM	25/8/201	Tom Downs	Lachlan Higgs	Kirsty Lord		Yulong Reserve
				Andrew Stephen	Riley Guerin	Ryan Marnell		
Heidelberg v Mont	tmorency 2	2:10 PM	25/8/201	Dylan Brown	Robbie Davey	Adam Orlando		Warringal Park
					Thomas Martin	Modesto Godino		
Hurstbridge v Whitt	ttlesea 2	2:10 PM	25/8/201	Luke Richardson	Lisa Compton-rol	Alan Webb		Ben Frilay Oval (main Oval)
				Daniel Henery	Adam Compton-r	Victor Filipou		
Macleod v North	hcote Park 2	2:10 PM	25/8/201	Chris Stead	Corey Potter	Jackson Mansell		Dewinton Park
				Alexander Langd	Peter Jory	Stuart Lord		
West Preston-lakeside v Gree	ensborough 2	2:10 PM	25/8/201	Daniel Compton	Nathan Jaenicke	Sarah Smith		J.e. Moore Park (main Oval)
				Justin Coutts	Alex Makropoulos	Cameron Lumsde		
				Andrew O'Neill				

2018 Meadows Greyho	2018 Meadows Greyhounds Division 1 Reserves											
Home	Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal Interchange Stev	Ground				
Bundoora v	North Heidelberg	11:55 AM	25/8/201	Peter Cahill	Ben Crick	Ronald Emary		Yulong Reserve				
				Jason Smith	Adam Crick	James Strebinos						
Heidelberg v	Montmorency	11:55 AM	25/8/201	Nathan Thorneyo	Logan Skeen	Lauren Green		Warringal Park				
				Darren Agnew	James O'Donnell	Sarah Green						
Hurstbridge v	Whittlesea	11:55 AM	25/8/201	Darren Bradley	Zack Ferguson	Joshua Newton		Ben Frilay Oval (main Oval)				
				Scott Walker	Ronald Rankine	Troy Lehmann-ka						
Macleod v	Northcote Park	11:55 AM	25/8/201	Thomas Centorin	Amy Davis	Jackson Mansell		Dewinton Park				
				Marcus Corda	Megan Barnes	Wayne Devene						
West Preston-lakeside v	Greensborough	11:55 AM	25/8/201	Simon Hubber	Shahir Ansari	Sarah Smith		J.e. Moore Park (main Oval)				
				Dominic Brennan	Brigid Mcentee	Lou Baschiera						
				Simon Hubber								

2018 Division 1 Under-19					
Home Away	Time	Date Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal Interchange Stew Ground
Bundoora v St Mary's	9:40 AM	25/8/201 Jeff Chambers	Liam Chambers	James Strebinos	Yulong Reserve
		Cameron Shiel	Nicolas Bannan	Campbell Jardine	€
Macleod v Northcote Park	9:40 AM	25/8/201 Lachlan Dwyer	Milan Todorovic	Matthew Hooper	Dewinton Park
		Leslie Miller	Matthew Simmon	Yucen Kang	
West Preston-lakeside v Greensborough	9:40 AM	25/8/201 David Miller	Angus Ryan	Lou Baschiera	J.e. Moore Park (main Oval)
		Anthony Neale	Nicholas Lawson	Christian Steward	rt.
Eltham v Whittlesea	9:40 AM	25/8/201 Seamus White	Brodan Thomson	Ivan Mckay	Eltham Central Park
		Peter James	Ethan Harris	Zachary Petrou	
Diamond Creek v Montmorency	9:40 AM	25/8/201 Ben Pascuzzi	Blake Leguier	Samantha Russe	e Coventry Oval
		Philip Messenge	er Zachary Johns	Claudia Gelsi	

2018 A Plus Labour Solutions Division 2 Se	eniors					
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal Interchange Stew Ground
Lower Plenty v Banyule	2:10 PM	25/8/20	1 Adam Walker	Ethan Dudgeon	Rhys Purdey	Montmorency Park South Oval
			Russell Yin	Timothy Whitehe		
Watsonia v Fitzroy Stars	2:10 PM	25/8/20	1 Elias Kafritsas	William Speakma	Ian Moor	A.k. Lines Reserve
			Wayne Fyffe	Dominic Douglas	Anthony Mahony	1
Thomastown v Diamond Creek	2:10 PM	25/8/20	1 Daniel Philp	Noah Willis	Peter Claridge	Main Street Recreation Reserve
			Jason Williamso	Nathan Strebinos	Stephen Kocjano	
Epping v Eltham	2:10 PM	25/8/20	1 Ian Herman	James Eastaway	Peter Bagley	Epping Recreation Reserve (main Oval)
			Brett Lynch	Matthew Brennar	Michael Zammit	

2018 Division 2 Reserves						
Home Away Tim	ne Da	ate Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal Interchange Stew Ground	
Lower Plenty v Banyule 11:5	:50 AM 25	5/8/201 Peter Neale	Liam White	Lachlan Holmes	Montmorency Par	rk South Oval
		Stephanie Trku	lja Lachlan Wood	Rhys Purdey		
Watsonia v Fitzroy Stars 11:5	:55 AM 25	5/8/201 Christopher Da	vi: Mitchell Lambert	Anthony Mahony	A.k. Lines Reserv	/e
		Kenneth Seiler	Deacon Kalpakis	lan Moor		
Thomastown v Diamond Creek 11:5	:55 AM 25	5/8/201 Andrew Mills	Zubyer Gokdemi	ı Stephen Paul	Main Street Recre	eation Reserve
		Roger Scott	Mootesm Abdulra	Sleiman Ahmed		
Epping v Eltham 11:5	:55 AM 25	5/8/201 Ned Welsh	Blake Fitzgerald	Michael Zammit	Epping Recreatio	n Reserve (main Oval)
		Ashley Quinn	Joel Fitzgerald	Peter Bagley		

2018 Division 2 Under-19								
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
Banyule v Mernda	9:40 AM	25/8/201	Peter Clapp	Lachlan Thomas	Jacinta Frazzetto	Lachlan Flinn	Pauly Mcdonald	Whittlesea Showgrounds (main Oval)
			Will Sedawie	Jamee-leigh Colle	James Baker			
			Samuel Lever					
Heidelberg v Mill Park	9:40 AM	26/8/201	Jason Williamsor	Charlie Scott	Sarah Green	Thomas Centorin	Zack Ferguson	Whittlesea Showgrounds (main Oval)
			Roger Scott	Thomas Hewett	James Strebinos			
			Luke Richardson					

2	2018 Heidelberg Golf Club Division 3 Senior	s							
	Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
	South Morang v Laurimar	2:10 PM	26/8/201	Jason Smith	Jeffrey Miller	Lauren Green	Daniel Philp	Zack Ferguson	Whittlesea Showgrounds (main Oval)
				Dylan Brown	Oscar Messenge	e Ronald Emary			
				Elias Kafritsas	Adam Taranto				
	St Mary's v Panton Hill	2:10 PM	25/8/201	Matthew Emery	Dempsey Mills	Antonio Monardo	Anthony Haynes	Pauly Mcdonald	Whittlesea Showgrounds (main Oval)
				Adrian Pekin	Harrison Hasoura	a Brian Moore			
				Harry Heller	Alex Coop				

2018 Division 3 Reserves								
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
Laurimar v Reservoir	11:55 AM	26/8/201	Darren Agnew	Ethan Farquhar	Troy Lehmann-ka	Luke Richardson	Zack Ferguson	Whittlesea Showgrounds (main Oval)
			Thomas Centorin	Ethan Dudgeon	Philip Collier			
			Daniel Philp					
St Mary's v Heidelber	g West 11:55 AM	25/8/201	Anthony Haynes	Massimo Balasso	Craig Stephens	Samuel Lever	Pauly Mcdonald	Whittlesea Showgrounds (main Oval)
			Benjamin Mcwigg	Trinity Mills	Peter Francis			
			Lachlan Flinn					
2018 ANZ NFNL Women's Divisi	on 1							
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
Keilor v Bendigo	2:10 PM	26/8/201	Sean Lowe	Jamee-leigh Coll	Jacinta Frazzetto			Preston City Oval
			Peter James	Natalie Lewis	James Baker			
2018 ANZ NFNL Women's Division	on 2							
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
West Preston-lakeside v Montmore	ency 11:40 AM	26/8/201	Craig Herman	Kristi Holmes	Wayne Devene			Preston City Oval
			Amanda Mowlam	Alyssa Bannan	Joshua Newton			
2018 ANZ NFNL Women's Division	on 3							
Home Away	Time	Date	Field Umpire	Boundary Umpire	Goal Umpire	Emergency Umpi Emergency Goal	Interchange Stev	Ground
Bundoora v Eltham	9:30 AM	26/8/201	Lisa Compton-rol	Bethany Fernanc	Claudia Gelsi			Preston City Oval
			Anthony Haynes	Yucen Kang	Campbell Jardine			

2018 U14 Boys Practice N	Matches						
Home Av	way	Time	Date	Field Umpire	Boundary Umpire Goal Umpire	Emergency Umpi Emergency Goal Interchange Stew	Ground
Nfnl Interleague U14a v Nf	fnl Interleague U14b	10:00 AM	26/8/201	Kenneth Seiler			C.t. Barling Reserve (main Oval)
				Simon Hubber			
Nfnl Interleague U14a v Nf	fnl Interleague U14b	12:00 PM	26/8/201	Kenneth Seiler			C.t. Barling Reserve (main Oval)
				Simon Hubber			